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INSTRUCTIONSTOTHIE CANDIDATLS

1. The admission to the examination is
provisional. In the eventof any information
furnished by the candidate found false/
incorrect/incomplete detected at any
stage, the candidature shall be rejected. J]

2. Darken the circles in the OMR sheet
completely with Black/Blue ball point pen
only. Partial darkening shall not be

evaluated.

3. Darkening two or more circles completely/
partially shall not be evaluated.

4. Changing the darkened circle in any

manner putting ‘x" mark/using white

fluid / erasing by rubber/blade etc. shall not
be evaluated.

This question booklet shall not be opened

until instructed. Write your Roll No.

correctly in this booklet as well as in the

OMR answer-sheet.

6. The candidate should check the No. of
Printed Pages and Questions along with
their Serial Nos. haseofnnydisu'epa.ncyr
found, exchange the defective one and
collect another correct one from the
invigilator within 5 (five) minutes and
thereafter no complaint shall be
entertained.

7. The examination shall be conducted as per
the Odisha Conduct of Examination Act,

oo el | 1988.
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Each question has four possible answers. Choose the correct answer from among them and
darken the appropriate circle completely in the OMR Sheet with Blue / Black ball point pen.
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What is the age range of ‘Sensory motor
period’ according to Piaget ?

(A) 7to11 years

(B) 4to7 years

(©) 2to4 years

(D) Birth to 1.5 years

Which of the following law gives
emphasis on physical and mental
preparedness for learning ?

(A) Law of exercise
(B) Law of Readiness

(C) Law OfRemu_-y
(D) Law of Effect

Which one of the following is not a

 *projected’ media ?
(A) 6.<g. 4. (A) OHP
() &8 (B) Picture
(©) @9-§aq (C) Filmestrips
(D) Qaeq (D) Slides
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Which grading point scale is used to
record the progress in other areas than
the curricular 7

(A) 5 point scale

(B) 7 point scale

(C) 3 point scale

(D) None of these

What type of teacher is appointed to teach
the disabled leamners ?

(A) Resource Teacher
(B) Efficient Teacher

(C) Experienced Teacher
(D) Subject Teacher

Which of the following educational
provision is not related to talented
children ?

(A) Non-graded classroom

(B) Grade skipping

(C) Enrichment programme

(D) Consolidation

Which of the following is a three-
dimensional Aid ?

(A) Wall Black Board

(B) Display Board

(C) Still Picture

(D) Model

Which of the sequence is appropriate
when development proceeds from the
centre to the peripherial areas of the body ?
(A) Cephalo - Caudal Sequence

(D) Bilateral Sequence
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Which of the following is the basic
nature of Continuous Comprehensive

Assessment ?
(A) To declare pass o1 fail

(B) To give certificate
(C) To facilitate student’s progress

(D) None of these

Which one of the following is an example

of intrinsic motivation 7
Competition
Praise

Rewards

(A)
(B)

(©)
(D)

Level of aspiration

|d.In

11. Which of the following learning theory is

12.

strengthening stimulus-response

relationship ?
(A) Classical conditioning
(B) Trial and Error learning

©
(D)

Operant conditioning
Insightful learning

Which one is the characteristics of
classical conditioning ?

(A)
(B)
©
(D)

It is stimulus oriented

It is response oriented

Response is more voluntary

It is concerned with the sequence

of response
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Which one of the following is a monthly

13.
02I0e A A MIFe e AT ¢ Review exercise to monitor unit test on
regular basis at our state level 7
(A) <ee (A) SAHA]
(B) QAR () SAMADHAN
(C) asg8 (C) UNMESH
(D), Qmal (D) SAMIKSHYA
ian Constituti
14. QIRGIEG TIUIRR 698 UIAIeR eadage 0@ | 14 ‘Wl'lich Article of_the :::c;ned“}eﬂ Casg
6 SRFIT AIRS AT *Ia 6 AR g8 przw;hes gﬂ;j?:;bes o \ atice
] QB ? an edu Socia
cAINE 9 QIR U gIIR AIQI B s of explaltation ?
(A) uiQI-41 (A) Art%cle -41
(B) dial-45 (B) Ar@ﬁ -:
(C) WAl -46 (C) Aticle - .
(D) uial-343 (D) Article -
Techofworld.In o
QIeiea Ban Q6% 7 15. Which of the following is not a Princip
15. @67I9 AuQ 6Q6C 48 Q e e
(A) <aeq o5e 1Iee 2939 6l (A) Pmeedi'ngfmmsimple to E:t:mpla-
(B) "aeq QeQ 2998 62| (B) Pmceednjg from near to far.
& 3q6 21eQ 289 629 | (C) Proceeding from complex to
@, &°R % abstract.
3 | (D) Proceeding from concrete to
(D) <Igeq JA6 21eQ 2998 62 iy
35 aepaie || 16. Which of the following group of
16. %o gﬂ:g? ::?: R characteristics is not related to creative
derae anRe iting'?
(A) TgaR QGiql, aRdee! 8 *ARIAS! (A) Guessing, fluency and flexibility
(B) 6736l BRLA @ RARIEG (B) Originality, fluency and flexibility
(C)‘ zgaIe eael, qlantesl 6 2R4S0! (C) Guessing, conventionality and
fluency
(D) &), 3904 8 TREGI (D) Originality, elaboration and fluency
OTET/P-1 (5) (Continued)
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17. *2-6841 a5l86a 88ec a1d 69d @8OI® | 17. Which competency of the teacher is more
Beie 9aRqd important in case of multi-grade
situation ?
(A) oF saien (A) Move planning
(B) eQlaea eI (B) Use of skills
(C). cga1 gRFe idia agase (C) Maintenance of class order
(D) Q®a ieela (D) Use of Intelligence
18. {7 6QNF 984 610Q ad Q6T ? 18. Which one of the following is not a basic
condition of learning ?
(A), TeuQ (A) Practice
(B) <mael (B) Contiguity
(C) d=iSeqa (C) Generalisation
O %@ Tochofworld|In @ s
19. 698 QA SQ18 ANGe Q6% 7 19. Which one is not related to development ?
(A) 491 QALERAIP Q6P | (A) Itis not cumulative.
(B) R AIRAQ IRl AVRAR QRAN | (B) It follows pattern.
(C) <RI FaeER Tee | (C) Itis continuous.
(D), <2l 9INQEe SaI1g 88 | (D) Itis a product of Interaction.
20. 69F 7R 29AEa gIAR 9x6a Faea- | 20. Which Act has made the continuous
QNFe RUdR QRISIER ? comprehensive assessment mandatory in
Elementary Classes ?
(A). RIT Act - 2005 (A) RIT Act - 2005
(B) RCFCE Act - 2009 (B) RCFCE Act - 2009
(C) REFCE Act - 2009 (C) REFCE Act - 2009
(D) “AIRS fug 6Madd gee (D) None of these
21. 69at daq g§al eBe anSe Q6F ? 21. Which one is not related to the process of
learning ?
(A) «6Qay (A) Purpose
(B), uRIIRQS! (B) Continuous
(C) waeaee (C) Adjustment
(D) qaga ziead (D) Reflexive behaviour
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22. . Which one is a characteristics of mentally
retarded child ?
(A) Social incompetency
(B) Normal Intellectual functioning
(C) Adequate language development
(D) None of the above

23. Which one is not related to Piaget's
Cognitive Development ?
(A) Assimilation
(B) Accommodation
(C) Verification

e Tachofworld. ™

24.

Physical energy which activates the
organism for action is known as :

(A) Drive

(B) Instinct

(C) Emotion

(D) Need

25. Which one of the following is different

from the other three from evaluation point
of view 7

(A) Rating scale

(B) Progress card

(C) Check-list

(D) Questionnaire

26. The term ‘myopia’ is associated with

which category of children ?
(A) Mentally Retarded

(B) Hearing impaired

(C) Visually impaired

(D) Emotionally disturbed
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27. Which trait of human being is determined

by heredity ?

(A) Moral

(8) Temperament
(C) Intelligence
(D) Social

Which is not related to positive verbal
reinforcement skill being used by the

teacher 7
(A) Saying ‘Yes’

(B) Saying “Very Good’
(C) ‘Smiling’

(D) Saying ‘Excellent

Which moral behaviour is not found

during latechildhood stage ?

(A) Abidingrules and regulations of the
school.

(B) Showing respect to elders.

(C) Establishing relation with opposite
sex.

(D) Carrying out the instructions of
parents.

Which of the following is based on

Learners-centred education ?

(A) Needs, abilities and interest of the
learner.

(B) Learning of the learner depends
upon the qualitative teaching of
teacher.

(C) Teacher remains active and learner
remains passive.

(D) There is prescribed curriculum for
the learners.
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-+ Taed ¢ |
T ¥ foa auft €
T, T, I, G T
@ |9 g9 o feafe)
wa e e g,
w fuees an €,
I € T W,

el =Ted S €,

' 36, Tafegm wel dow Tt ¥2

(A) v SR (A) e Ft S0 Tl
w
|-l
(B) :T“m_w (B) siwd ¥ ot aeh
(©) il (C) =™ Ft Tt |
(D) Hen-Frden (D) e W TR A TE




SRR

AR
37. fafem wra = F a1 wwe ¥2 41, ‘e W T g 9B :
(4) Pregem B (a) wg
' (B) el
(B) HfEww= . . g -
(C) = | firew = | .
(D) e
(D) WY vrqm
42, WF-W W YET-ga T &7 .
38. mﬂ'{ﬁmm#? (A) W
(A) Im-viifa =t df i
(€ fa=R
- B F=wRe (D) wwHdE
(©) T e i O .
43.
©) o m:qa:r‘squﬁmh?ﬂﬂm?
. (A) =
- ®) =
39. il w1 W wEi €7 (C) Terdrau
(A) o0 R diget 3§ (D) fma
SR 4. TO-VIoT 1 T SR w42
(€ wwltw (A) TEmEYf
(D) amEHA § (B) whicT w=li 1 ard-g
: (C) Yo = aA” T
(D) TRV A &
40. 3@ Ara forg feafa J 7
(A) feafaet 45. TH TEH - ¥?
(A) ToEEm
(B) T B
_ B) FtEEn
(©) QTR © T
(D) AT (D) =
OTET/P-1 (18) (Continued).
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46. 50. WI-fea = wug ¥ g S i

¥ e §?

&) = () g

() W™ () WA

(C) =1 (€ FWwAaT

(D) fiwm (D) AT -

Techofworld}In
51, e wel & Ry - 3 3w

47. Taemdl =1 wrfes faem waiiE g g 4

(A) (A) gl s

() forarera s A ®) 3 i fr-fim s 2w )

(€ F-vizetH ©) ﬂwquﬁmﬂﬂam

@) da¥id (D) ¥iw T wva E
48. T T T R P &7 5. T IATEL?

(A) V& & TH B A L (A) T i

(B) TSRV WA FA @) 3 el wm

(©) i ¥ fag TR FT (© T3 Al w®)

(D) Wt ¥ e wrel @ ST B (D) T3 et

53, gu-oad § -1 q Rl = w9

49. il A fordoor v A X2 b

v () -

(B) TR (B) S-S

(€ e © A

(D) ¥t (D) #aw-

(19)
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. 58.- 'mﬁ'ﬁlmw*: ‘
T A wewg §2
(A) 79T I9F (A) T
(B) o T ® fm
© v o
(D) veu-Y&a ©
(D) FH
55. e v ¥ s ¥ -
&) e Techopfworld.In
(B) e 59. W@ WA W VO T F N ¥ woww
mEAL:
© whRw _
(D) e e (A) fremmE v
W
56. T | I e A ? (B) wEEw
(A4) Fm (C) T gy
il (D) R st 3
(C) T
(D) &
60, ﬁmaﬂquﬂt?
57. ‘&uar @& FeEy foa S
7% fiFg W o T § 2 (A) v
(A) TrRvES ®
(B) FREEH
frargas (© =ghrem
(&)
(D) Har® (R — 3
OTET/P-1 (20)




: SET -(D)
' L-ENGLISH
61. I can play very well. 65. The doctor came after
(A) aviolin (A) the patient had died
(B) an violin (B) the patient died
(C) violin (C) the patient was died
(D) the violin (D) the patient was dying
Techofworld.In
. i after 1k. 66. ___ made the study of English
62. He arrived here wa 5 canipulaory In
() Amam (A) Kothari Commission
(B) five-minutes B Wood's ik,
(C) afive- minutes © Macaulay's ——
(D) five minute (D) Sergeant Report
68, ‘Sue gaveher L8 i 67. The phonetic transcription of the word
(A) blue plastic Japanese ‘duty’ is :
(B) blue Japanese plastic (A) /djuti/
(C) plastic blue Japanese (B) /djuwt/
(D) Japanese plastic blue © /djuti:/
(D) /duti/
64. State which of the following is
grammatically acce table.
. AT, 68. We drive fast as we have plenty
(A) Whatdo you do at this moment ? of time.
(Bi What are you doing ‘at this (A) needn’t
moment ?
(B) mustn't
(C) What will you do at this moment ?
(C) cannot
(D) What have you done at this
moment ? ' (D) couldn’t
OTET/P-1 (29) (Continued)
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69. is most essential for creative | 73, Deficiency in a learner can be taken care
writing. of through .
(A) Idea (A) regular teaching ’
(B) Language (B) selfstudy
(9 Tmagination, (C) proper explanation
(D) Fancy (D) remedial teaching
70. State which of the following is :
grammatically acceptable. 74. When a part of the word is spoken
emphatically, it is called _______ .
(A) No sooner the game had started
than it began to rain. (A) a pause
(B) No sooner had the game started (B) stress
when it began to rain.
(C) intonation
(C) No sooner had the game started
than it began to rain. (D) pronunciation
(D) No sooner the game s it
mgmtorain -1 GCHOfworld.In
75. We have been staying here
2016. *
71. Poetry is primarily oriented for _____. (A) for
(A) comprehension (B) within
(B) vocabulary enrichment ©
appreciation
(C) app D) in
(D) linguistic skills
76. Continuous comprehensive evaluation
72.  When rules of language are leamt from a emphasises ______evaluation.
life situation, it refersto_ grammar.
: (A) process
(A) Functional
roduct
(B) Formal ® p
end
(C) Descriptive (© term
(D) Traditional {0) formation
(Continued)
OTET/P-1. (30)
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77. 'The aim of teaching English language is
to acquire .
(A) the knowledge of grammar
(B) vocabulary -
(C) the l&adwledge of sentencesl
(D) languageskills |
78. Which of the following'sentences is
correctly punctuated ?
(A) She said to her son ‘Are you
hungry ? -
(B) She said.to her son, Are you
hungry ? -
(C) She said to her son, “are you:
hungry "
(D) She said to her son, “Are you
hungry ?7°
- Techofworld.In
79. hinders the process of
comprehension while reading silently.
(A) Eye-span
(B) Sub-vocalization
(C) Scanning
(D) Finger pointing
80. He was accused __theft. ;
(A) with
(8) of |
D LINPR i 4)
(C) for
(D) at : )

seT-(D)

Read ‘the passage given' below and answer
the questions that follow choosing the correct

alternatives.

Twenty years ago, Kamalpur village was
backward and neglected. There was no supply
of drinking water and the villagers washed
their cattle in the only pond. There was no
hospital or school and no electricity either.

Today Kamalpur is electrified and a
mobile dispensary visits it every week. A
primary school is housed in a stone building.
Drinking water is on tap. There will soon be a
branch of the State Bank of India in the village,
and this will be a great boon to the farmers.
Loans for farming operations will be readily
available and the grip of the moneylender on
the farmers will be loosened.

81. The phrase ‘the grip of the moneylender’
suggests the moneylender’s
farmers.
(A) kindness towards
(B) jealousy towards
(C) financial control over
(D) intolerance of

82. Which will be a great boon to the
farmers ?
(A) Electricity
(B) A mobile dispensary
(C) A primary school
(D) A branch of the State Bank of India

83. The passage is mainly about the
— Kamalpur. :
(A) backwardness
(B) happy and bright changes that have
come over
(C) farmers of
(D) supply of drinking water in

OTET/P-I

1’(31)
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84. What was Kamalpur like twenty years
.. ago?

(A) It was a model village.
. (B) It was backward and neglected.
" (©) Tt was backward but clean.
(D) Itwas fully electrified.

85. Kamalpur had
(A) apond
(B) two ponds
(C) no ponds
_ (D) three ponds

Read the passage carefully and answer the
questions (Q. Nos. 86 to 90) that follow
choosing the correct alternatives given :

There is some truth in the common saying
that while dogs become attached to persons,
cats are generally attached to places. A dog
will follow his master anywhere, but a cat keeps

. to the house it is used to; and even when the
house changes hand, the cat will remain there,
so long as it is kindly treated by the new owners.
A cat does not seem to be capable of the
personal devotion often shown by a dog. It
thinks most of its own comfort, and its love is
only cupboard love. A German philosopher has
rightly said thata catis tolerable till it is a kitten.
But a dog is faithful to its master till death.

86. Which of the following is true ?
(A) A cat has its personal devotion to
its master.
(B) A cat thinks most of its own
comfort.
(C) A dog does not have its personal
devotion to anybody.

(D) A dogis tolerable till it is a puppy.

SET-(D
87. Which of the following is true ? !

(A) Dogs and cats are attached' to
people in the same manner.

(B) A cat follows its master anywhere,

(C) A dog is always attached to the
house of the master.

(D) A dog follows its master anywhere.

88. According to the German philosopher

(A) a dog is always faithful.
(B) a catis always faithful

(C) a dog is faithful till the master is
kind to it.

(D) a cat is never tolerable.

89. A cal's ‘love is only cupboard love’. It

means ________ .

(A) A cat does not carry any love.
(B) A cat’s love is only outward.
(C) A catloves its master secretly.

(D) A cat has genuine love for
Techofworld.In

90. When the owner of the house is changed

the cat

(A) remains attached to the house as
before .

(B) remainsattached till the new owner
treats it kindly

(C) follows the old master

(D) follows the new master as long as
the master lives there

{\OTET/P-1

(32)
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91.

92.

93.

(©

)

SET -

989,/ MATHEMATICS

Qde JVIQIEQ 6o O8GT AUETQ anqyl
9Q \IF QIO °6 ANER AR YR &d
2IQ QARG eRaN 7

2160121 AT
AEAIL ARG
Q6gaa asd
Q'6gua a8d

(A)
(B),
D)

|
6Q 6lad Q8o gaAT QUER AFERAINR

REVEY GRIA SRUEIER TR [AR AIGT
FRIQ 6RNTQ S0I8 QaaN /1T 7

(A) @9 QI Y909 9]U

(B), @s|gh AIRSQ ZINAINS! B 2IgR
(C) QAR YRNSI

(D) Qga ARiEHeR aied

o9 5g6a, ABCD 4@ 9Q8e | 3gq #6AI !
Q9 FIRS RIG 6966 O] 7

TechoﬂNOQ<

B

(A)
(B)
©
(D)

AB+BC+CD+AD=2AC i
AB+BC+CD+AD < 2AC =
AB+BC+CD+AD > 2AC

9IRS FRIQ 6MaTE ges :

91.

92.

‘93!

1.1n

Which method of teaching Mathenmﬂcn
establishes relationship among the

"constituent parts by breaking up a

mathematical problem for its solution ?
(A) Inductive Method

(B) Deductive Method

(C) Analytic Method

(D) Synthetic Method

Which one of the given factor is not
considered  while formulating
instructional objectives for any topic in
Mathematics ?

(A) Nature of the teaching subject

(B) Need and interest of learners

(C) .- Availability of Resources X
(D) Political Ideology of the Nation

‘In the given figure, ABCD is a

quadrilateral. From the figure, which of
the following statements is true ?

D

A
BQ
C
(A) AB+BC+CD+AD=2AC
(B). AB+BC+CD+AD < 2AC
(C) AB+BC+CD+AD > 2AC

(D) None of these

e@ QIdy aid @19 / SPACE FOR ROUGH WORK
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94, BOg cRSR NR Qga@eQ gs¥ 7. ' i ' | 94. ‘Which of the following is not a
jrag o polyhedron ? AR 4
’(A') 3uIas sue ’ o (A) Match box - =
(B) 6€QIReQ 6618 (B) Cap of a joker
(O QI aAee QG%I 6aIag (©) Road roler .
' .(D) Q1é 6QIeR | D) Water bottle
Techofworld.In,
it
95. ©6@ d_el 2QEACR 8F QW 67607 95. Whatis the sixth number in the sequence
- given below ?
1,3,7,15,31 1,3,7,15,31
(A) 65 (A) 65
®), 63 ' ®) 63
(C) 55 © 55
(D) 53 (ﬁ) 53 o

o @idi aid giI® / SPACE FOR ROUGH ' WORK

OTET/P-1 ' (39) (Cantinued)
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96. 1 96. 4
70+ 0]
50 1 50
T 50:.. \\ E 50; Q
PES N 1 S
S \ \ 5 \
@ 30 \ 20 7 \
@ NJ7 %y § 5 - ‘\
VNN VNN,
00 w0 6 80 10" - g 20 40 60 80 100
a8e 091818 FRa — _ Mark in Math. Examination —s
Tlechofworld.In
oa 8g § 694 &9 94a a8k 72, Seeﬁ:dingramandanswermefollawhg
’ question.
60 @ 80 adYe °AQ QAR RIS aal The number of studenfts t;ecuring bnemk:
X ; 60 - 80 is 4 times of the number 0
ced 9AQ aYael AaIT IWIR 498 ? mambm ks of the 2
(A) 0-20 (A) 0-20
(B) 20-40 (B) 20-40
(C) 40-60 (C) 40-60
(D) 80-100 fD) 80 - 100
' aa, eIkl ai 919 / SPACE FOR 'ROUGH WORK
OTET/EeL (35) (Contiried)
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97. GR1GR 6Q.f. 92Q BeR19IA 4, 6969 | 97. What is the weight of 3.5 kL of wates i

- 35 Q6RIA0R 99a B8F 6969 QERIGIA kilograms, if weight of 1 cucm of water |,
eRe? ‘ 1gm?
(A) 35 ° | (A) 35
(B) 350 7 ' (B) 350
(© 3500 (C) 3500 '
(D) 35000 : A (D) 35000
Techafworld.In
' 98. Q0T QA 7gqg Qwva QuQIg 6460 7 98. What is the LCM of two consecutive odd
numbers 7
(A) Quee ugg Qay (A) The greater odd number
(B) ®Qea zgg Qal (B) The smaller odd number

€ _zgQ <av Qo geae
(D) 799 Q¢ Qae caISaP

(C) Product of two odd numbers
(D) Sum of two odd numbers

99, éom 6aRA0A QA 4157 carlea 8§ | 99.

If the cost price of 20 pencils is equal to
191 QARAAIP 6QER, AVRCI ERER QAN

the selling price of 15 pencils, then what

2R 7 is profit percent ?
(A) 382% | (a) Bix
(B) 33%% | (B) 33%-76
1 1
(C) 38:% © 3%
1 1
(D) 33-;% (D) 33;%

o @Idi adl QIR / SPACE FOR ROUGH WORK
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100. 1@ 6ICRER QA AN Q V9 NVRER YU | 100.: The time interval of one second in hour
. 969, G121 BA 699 Q7 QAIP 62?7 uiiit is equal to which of the following ?
(A) 0.00032 ik ;
; ' | (A) O.UQMZ approximately
, (B) 0.0032 giax (B) 0.0032 approximately
(C) 0.0028 I (C) 0.0028 approximately
(D) 0.00028 gia\ (D) 0.00028 approximately

101, 9OF 90Q9Q QRIS 6QIg 698Q FQg 6@ | 101. Which of the following statements in

a9% adel Qe gee 7 respect of a pair of adjacent angles is not
_ always true ?

(A) 6€QAIRRS 6aITa a1d 39 ad (A) They have a common vertex

(B) 6QANIRIR 64IGY QARIGE AZAN (B) They have a common arm

(C) 6ININTQ BGERE QA 2a6RT (C) Their interiors are not intersecting

(D) 6Q Q16 Q0Q aGaIa QAR . . (D). Their measures are equal

Techgfworld.In

:102. cad Q'avIq Q1N QEfe —64, 6Q QIR 102. What is the cube root of the number
which has —64 as a square root of it ?

apqe 6968 7

(A) 8 (a) 8
(B) 16 (B) 16
© 32 © 32
(ﬁJ 64 (D) &

o @iy o @19 / SPACE FOR'ROUGH WORK
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. (A) 48°

(B) 56° .

© .8 Techofworld.l
. (D). 96° :

QEQ.QIOC;I oRg QEREY AERE SRR 6960

104.

caItN 3Quean dIE AIRS MRIQ °8R
cEQae dmigh Area awll &d Aladiea
eaiQIng.

Ql6ae
cae | qeen [efeq| Geoq
ef
amiei
50 | 48 | 60 | 22
Q' :

e QIRAIR LA IR AINeIFeR dIReR
SRR 6ERIT AWy QRINgRl YRR
6QQIA ERIE ATAO 66T 62Q7

QA0R QUEas 26E 7
(A) quége uIe6l Qaca dsidinee
6QRIEJR IR QTAITER |

(B) QIETR GIGeE AIRSS QKa Algen

N

104.

——

SET . @
. The table shows the number of g,
of a school who play different Elmu_

VOlley | ey Base

Football
ball ball

Game

No. of
Students

50 48 60

2

B

When the data shown in the table abgy,
is presented in a pie chart, what will pe
the measure of the central angle of the
sector representing the students playing
Volley Ball 7

(A) 48°

(B) 56°

(C) 8s8°
(D) 96°

Which is the correct form of stating

specific objectives in Mathematics ?

(A) Pupils develop understanding on
Mathematical concepts.

(B) Pupils describe relationship
gel ane daial qiee egel between two sides of Mathematical
QOAIRER | . equations,

(C) <die daa Saea Aglal fAier aIgea (C) Pupils develop interest in learning
QI8 Q@AAIRER | Mathematics.

(D) dmiinee QIEER dea K96a BIR (D) Pupils acquire knowledge on
21206 @6 AIGER | Mathematical concepts.

o, QI QI QIR / SPACE FOR ROUGH WORK



105., RgRY Q4IRS 6°dF Fdioe asa.
gee ? ] BTVt :
- (A) RUR gaIR X3oq
(B) <% SEaeg adaa
(C) Fgde dea og a%ce

(D) 9] gaIRe oe

SET-(D

105. Mﬁchisﬂ;euiluionofol:q'ecﬂvetypemt‘

items ?
(A) Scoring is subjective
(B) Less content coverage

(C) Wide content coverage

'.(D) Answer is extensive

Techofworld.In

106. @19% 10.25 §. a.m. GQQIAG 2ASQ Sl
2Icea LB AR QI 9. 1.40 fige Qaa
QTN | AGER FOTE 5 AU 9. 2.30 )
QA QTR | ACY TR 6I6R ATER
€. 210 @ | QNG QTR 6969 6 66T
6Q6Q G6q avdE 7

(Aj 3.25 p.m.
(B) 4.45 p.m.
(C) 525 pm.

(D) 645 p.m.

106. Jeeban left his house for the market at

10 hr. 25 min. a.m. He took 1 hr. 40 min.
to reach the market and for purchase of
materials he took 2 hr. 30 min. While
coming back home he took 2 hr. 10 min.

on the way. Atwhat time he arrived back
at home ?

(A) 3.25 p.m.
(B) 4.45pm
(© 525pm.

(D) 645 pm. .

Q@ QLY QI 9If / SPACE FOR ROUGH WORK



108. 3AQ 609 69Q6R €90 AIg 95an eagl

A

109. Q89 d9IRIRER AQCAIRT ARGa IeQIQ

.

K « TR - 5
107! SR G103 SORR PNIARA Q6 9'4'7:

ada®'s,

A) @miel ARee cMay d8a aAgdul

qeQ 3¢ 6l S

(®) dael aeca g daa agiul gig

%0 QGQl |

(©) dmel AIeea gees Beae giq B9

Qae! -

(D) 8aiel aieea 618 daa agdwl 0

FQe QT

Y el
P et 2

ser..®

i 107. What 'is the purpose of formatiy,.

evaluation in Mathematics ?

(A) Identification of miinor leaming
difficulties of students '

(B) Identification of major learning
difficulties of students

(C) Identification of entry behaviour of
students

(D) Diagnose the severe learning
difficulties of students

Techepfworld.In
108. In which of the following cases only one

ag?
(A) ziee og

‘() QAR 8ye

© ]@

(D) 2d qm

@Rl AR 604 Fo1 Zeane Qalang 7

(A) zmIeq "G BIeg agae ceel
(B) RiISQ 2819 21eg agaa czq)
(©) TReq Quies 2ieg IFQAR 629
(D) Quieaq #8q 21eg agaa ceql

109,

line of symmetry exists ?
(A) Rectangle

-(B) Equilateral triangle

(C©) Circle
(D) Semi circle

Wlﬂdapﬁndpleisfnllowedm the use of
deductive methogd in  teaching
Mathematics ?

(A) Proceeds from unknown to known
(B) PfWEedsﬁumhmmmhwwn
© Proceeds from particular to general
(D) Pmceeclsﬁ'omge!mlbopuﬁcuju

o, Iy i’ QIe / SPACE FOR

ROUGH WORK _



110. “Aeea g3 ool aeuaa aid Qdie go§e | 110, “Mathematics is a way to settle in the -
Qﬁal'd"-h-qmqiq@g? mind a habit of Reasoning” - who said
it?
(A) ceale (A) Kelvin
(B) eaiqig (B) Thomas
© wee (C) Locke
(D) QR (D) Bacon
111. 1,2,4,7, -: 16, 22 a1l 9A6Q G1091 33 | 111. What number will be placed in the
UIR6Q 6ea avi@ oRe 7 position shown by the star mark of the
sequence of numbers 1,2,4,7,%, 16, 22 ?
(A) 8 (A) 8
B) 11 B 11
© 12 © 12
(D) 15 (D) 15
Techofworld.In
112. AABC6R2mZA=3m/B=6msC6R6Q | 112. If in AABC, 2 m/A=3 msB=6 m<C,
mZA Q 98018 6960 7 then what is mZA equal to ?
(A) 30° (A) 30°
(B) 45° (B) 45°
(C) 60° (©) e0°
(D) 90° (D) %0°
113. gde €Ige o4 Swie® g99 S8% 6 | 113. Which branch of Mathematics teaches
gIgee qarer Gaasa a8l ceqard 7 Logical thinking and natural design ?
(A) cresde (A) Algebra
(B) «uAGa (B) w
©) aidade (C) Arithmehc
(D) Gewias (D) Trigonometry

SET -(D)
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114.

L. TG

oQ 5g6a 61t od 58Q $R% ZIae Sgea:

L. 9060 QAAIRE | Of ZIae B8 geda

afQIfIa an§ 54 63.7. 4, 6969 o4 5ga
0ada eeee 6a.f. 7

- (A) 40

115.

(B) 36
© 32
@) 28

109.20 8. a.m’' 019 3 €. 15 &. pm. asiie
QNQ A G| IR €R60 7

unit ?
11
(A) 2 (A) 1%
11
® 23 ® 23,
© 3% © 3>
12
11
@ 43, ® &

g

SET -@

. 114. In the given figure, a square lm

divided into two rectangles, If, t}! fum
of the perimeters of the two rectangles iy
54 cm, then what is the perimeter of y,

Techofwo,_rld.ftr)%

115.

square in cm ?

(A) 40

B 36
C) 32

What is the time interval from 10 hr, 20
min. a.m. to 3 hr. 15 min. p.m. in hour

& IdY I QIR / SPACE FOR Rougy WORK




117.

Techc

691G Ta elea gel 115 §oa caGg
6609 2.5 Gica Qe aid o cenl | 293y
6O 225 ml 6R%Id QFQ oAU agal
a1 25eA6Q 6960IT YT 01 21a1e :

SET-| D

116. The present age of Ravi is 18 years, his

elder brother is 5 years older than him.
What is the difference between the
present age of Ravi and the age of his
brother 15 years ago ?

(A) 5
(B) 12

© 10

D) 15

fworld.In

117. From a tin jar containing 11.5 litre

mustard oil, 2.5 litre of oil is used for the
house. For keeping the remaining oil in
PhSﬁCiHHOme&dtyﬂSnuhwmy

jars are required in the minimum ?
(A) 30 (A) 30 |
(B) 40 | (B) 40
(C) 45 € 45
(D) 50 (D) 50

e @iy aid gIf / SPACE FOR ROUGH WORK



im goeeiel @gIRle 691ARA QAT Q8

q6% ?

(A)
(B)
©
(D)

daiel aeea aka 2°a gee
daoIe ateea

Qidy QBR frIER IRgER Fal
AFae Ay 68

119, % Q 6QINIAR JEUM 8 AR Ieaua

Qa0 6969 7

(A) ©

(®)

©
) 3

1
-1

120. gEQIRINR 941 QAFR REQEY Q@ 7

(A) dmial aeca gF qeleas delca

(B)

©

)

QIR QTR

6ga1 q alieenica d8eea °Eol
% QGel

daiei arca daa aglul goq &5
QR Q3R

guIe 8aeq Aq9 QSIS cgan
fdeoIg aye a1 Qe oGl

7 oo

SEI'..@ '
118. Which is not a characteristics . of
constructivist teaching strategies ?

(A) Active involvement of learners
(B) Democratic environment

(C) Interaction among activities
(D) Individual working style -

119. What is the product of the additive

3
inverse and multiplicative inverse of 7 4

(A) 0
® 1
© -1

TechbfwSHd.In

120. What is the purpose of remedial
teaching ?

(A) Help students to overcome their
learning difficulties

(B) Help teachersto develop proficiency
in class-room management

(C) Help teachers to record learning
difficulties of students

(D) Help teadlershotakeextradusea
for satisfying the Headmaster

QX @I a1 9I° / SPACE FOR ROUGH WORK



121,

122.

123.

s |
- T

SET -@

R T
B SRI? / ENVIRONMENTAL SCIENCE

S%aIa Qay geg?
(4) 2120q egaige
(®) zogea ags
© =z 33q)
(D) Qe eaaq

Q@Sm AR Baca giade g96a 6ed
98 T 2@ easaie zieg?

121. Which is not the aim of first-aid ?

(A)
(B)
©
(D)

Pain relief of the injured
Improvement in condition
Temporary treatment

Permanent relief

122, Which method is more useful for teaching

history at primary level ?

(A) adiseme (A) Observation

(B) gede (B) Demonstration

(C) <98 cae (C) Story telling

(D) ges (D) Project

| Techofivorld.In

() Q9% QYeIe 28 9RQ @A 98 AR | 123. ()  Since the axis of the Earth remains
RUIEA APIYAY 90I6] OQ e perpendicular to its orbit, there
a6% | ' occurs change of season here.

(i), 9RIg 9B @9, Y 6 A ge (i) The orbit of the asteroids remains
QOQ QA AYER KRN | between the orbits of the Earth and

the Mars.
(i) QRIRA P2 LA YW SIFACT AFAg - (iii) The planet Uranus rotates around

qe aIeg qsa |
RACAIY FERIT G’@ A :
(A) (i) 6 (ii) O@ 1< (i) @R

(B) (ﬂ)@(ﬁ)ﬁ? qe* (i) QR
(©) (i) 8 () 9K 9<* (if) OR
(D) (i) 6 (i) QA 9" () 59

its axis from West to East.

Out of the above three given statements :

(A)

®)
©)
(D)

(i) and (i) are right and (iid) is
wrong

(t) and (iif) are right and (3) is wrong
(ﬁi)md(i)mwmsmdﬁi)iﬂﬁsht
(i) and (iii) arewrongand (i) is right
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124. Q1609 F6AI9 608 RAQLER ZERAGTY
QORe cOMEN?

(A)
(B)
©
)

125 (a)

(b)

(©

@

= =]
eSa-
ARSI’

agal

— e ———

(B)

124. In which of the following coasts of Ingj,
islmgenumberoflagoons noticed 7

(A) The Coromandel

The Konkan

(C) The Malabar

(D) The Odisha Coast

.Techofworld.In

g91q%¢ adieean Q'eaa 6 gas!
Q'afe 2UAR |

QQlFIR TR QIgHR OGceEn aRd

RUIR TR AgaIa ] 9 asey
Qate 2RaR |

QIPREY B 9L fiEa 9aga
FeeaIeel aade 2uae |

g/IQSe 9G6eaq 29TAR Q108 AR
a9 9218 QAGaIN QOle Auae |

c8@Q QF6RIaq glafie Ieaa dael
ARG RAEAIG DI0Y IUA YR 69 §A6R
geide age ?

(4)
)
©
(D)

bacd

abed )

dacb

cdab '

125. (a)

(®)

(©

(@)

(B)
©

Study of conservation and safety of
the natural environment.

Study about the responsibilities and
duties of human beings towards

improving the existing natural
environment.

Study about the mutual
interdependence of the living world
and the non-living world.

Study about the causes of
degradation of the natural
environment and evil

consequences.

its

From educational point of view, in what
Sequence the above mentioned study
| matters should be taught to the learners
of the primary classes ?

(A) bacd

abed

dacb

(D) cdab




126: §q <eesl AUa QuiaIRgQRl 94 30}

(D)

127,

128.

geIear

(asieet Genlagfica seaiaingel gIGal
TREHQ FIAR’A 7)

(A)
B)
©

ane Fdaiae
GRg asfa'qqe
eRERT ANRMeR
99 seeqee

SET -(D

126. What type of question is the one given

within the brackets below ?

(What is the name of the tidal forest found
in the Ganga River delta 7)

(A) Analogy type
(B) Fixed answer type
(C) Multiple choice type

(D) Open answer type

Techoﬂ&oﬂdjn'

127. Which subject is not included in social

FoIFQl QUIERa 2QAIA1 cea Jaad
QAISe TRIFQ a5A0Q9 Q62T

(A) wzdaIg
(B)
©

(D)

REAIL
Qleale IRIP

agrer IER

QIecdais Q| 6v8gel Qiale {619
cod aaa QO FM6e BgRe 62IRaN?

128.

science according to Encyclopedia
Britanica ?

(A) Economics
(B)
©

D)

Geography
Political Science

Animal Psychology

For the cultivation of which of the
following pairs of crops is the

Kalbaishakhi rainfall favourable ?
(A) ©2a6uUR (A) Wheat and Paddy
(B) ém e Qieal (B) Wheat and Bajra
(C) 6«e 8 o (C) Jute and Tea
(D) e 6 el (D) Paddy and Bajra
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129 ﬁﬁq QRSRLe GERIaI ﬁ‘lﬁﬁ‘lﬁﬁ'ﬂ sea‘s‘q'

SET~-(D

129, What is determined by specific' answer
FRIeE Q1A ? type questions from the students ?
(A) , 90688 (A) Memory
(B) <agar 63 (B) Presentation style
© qeeeg (C) Creativity
(D) Q9sae (D) Argument power
130. 10ms~? O36RG6ER GG 5 kg @gQ T8 | 130. A body of mass 5 kg moving with a
Q@ 9g 9A6R 9@ geala afwIg 25 5 6 velocity of 10 ms™~1 attains a velocity of
QI8 9699 35 ms~1 62A11 293 ABAIE 35 ms~1 for 25 s by applying a force.
Qa0 7 What is the magnitude of the force ?
(A) 1N * (A) 1N '
. (® 2N - (B 2N
(© 5N © 5N
10N
v Techofworld.In ™"
131. QIAGER 6I6R FAA QRIFS! A'FIA A09 | 131. When was the firs-t sttuégle for
eRIQgmI? independence organised ?
(A) 1857 (A) 1857
(B) 1920 (B) 1920
(C) 1930 (© 1930
(D) 1942 (D) 1942
132. 6Q60 QEIGERO 6aIA G6L7 | 132. Which is not a viral disease ?
(A) QT (A) Swine flu |
(B) Qs (B) Tuberculosis
() @&del " (C) Measles
(D) SeergfFul | (D) Chikengunea
OTET/P-1 1(48) (Continued)



133. Q'GQIO GE9RER AraenieR SaR Qi

134.

135.

Qv Becéa aeaIa] aLd?
(A) - QIR AT
(B)

©
(D)

6RIQQR!
QIgad

6QdR FRARIIRE

8%a aifzicns Qe 980l 6eY 4IdR
QI 1919 AGRACA NG €IAR ZIQR 6T
caI8e 62al?

(A) AeR-Fcel AR AR

(B) £166Q-69AQETIE AU ARR

(C) QIIRIS TIeR

(D) deQ edal ISR

SET-|D

133. Whom are the members of the Parliamént

134.

owe their accountability for various
functions in the Parliamentary form of
government ?

(A) Prime Minister
(B)

(C) President

Lok Sabha

(D) People of the country

Which administrative draft proposal Act
passed by British Parliament was
declared as the government of India Act
in 1919 7

(A) Morley-Minto Reforms Act

(B) Montague - Chemsford Reforms
Act
(C) Rowlat Act

Pitts India Act

TechoﬂNoHdIn

cedd atices S0aq 98T QELT

(A) adieesd
(B)
©

(D)

qeqaa
dRIgIQad

BQAIR

135. Which is not a method of environment

education ?
(A) Observation
(B) Analysis

(C) Conclusion

. (D) Presumption”




136.

P, Q, @ 64I30a 6T 86T Qe g6eR
P 4@ AIg 99" Q ZRACER 86T | Y x=3
qe° y=2 ¢4, 6062 URTR CLIAINCA

SET -

136. P, Q. is the formula of a compound and

in it P is a metal and Q is oxygen. If x=3
and y=2, what is the formula of the

Q°6ee e'a? fluoride of the metal ?
(A) P,F, (A) PFs
(B) P,F, () PF,
(C) PF, (€ PR
(D) P,F (D) PF
Techofyorld.In
137. 604 @F° 5@ ges? 137. Which statement is not correct ?
(A) 6QIQQRIa QI'qRAIeR JuIARY (A) Members of the Lok Sabha are
cRILAIGE QIal FISe g28 | elected directly by the people.
(B) QAT CRIRANIR AAR AIRS AR (B) Presidentis elected by the members
@QISe guE | of the Lok Sabha.
(C) SuIR ARA ANAIER €A% FEER (C©) Members of the Legislative
ERITRR QA FITS UG | Assemblies are elected by the voters
of that state.
(D) 6RKANIA UGAD CAURANR ArALT (D) Speaker of the Lok Sabha is elected
QeI RIS g8 | by the members of Lok Sabha,
138. AIROg6R 694 o QoI QEGA ediaiea? | 138. By which colour is agricultural land
depicted on the map ?
(A) ARa (A) Brown
(B) @9 (B) Blue
(C) Qg (C) Green
(D) ee@al (D) Yellow




B
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139. B6QIQ 6REE QINCA ALEA AR 7
" ; ) :

(4)

v
- e

Qg
QIR
caIe

606281

B)
©
(D)

140. @91 @gig 2 ms—2 QAAQAEER AT QA

200 gIFIQ ¥R §) AAIBQ AL QFER 6169
Qa0 205A @Gl 96210 ) 66 48 QI9
6297 QR ca §fife ada caay
266 7

(A) 25m

(B) 40m

(C) 50m
(D) 60m

ced yada geg daig Aeea RIS
adlleea aeIae ceIQard?

QIR
GoRIAR
CEET
QA LR

(A)
(B)
(©
(D)

142, 6@6Q QIFA cBade oanIgea aaeseq

odiaql QI 694 gQIa €a%de IR}
Qa6 ?

TechoﬂNoHJIn

141. Eaaﬁ 9. GRaIGes A Bgaea F6AI8

SET-(D)

139. Which of the following is the tallest of the

140.

141.

142.

dams in India ?
(A) Bhakra
(B) Koyena
(C) Pong
(D) Tehri

Starting from rest and moving with a
uniform acceleration of 2 ms=2 on a
horizontal plain ground, how much
distance a ball of 200 gram would cover
to have 10 | kinetic energy ?

(A) 5m

B 40m

(€ 50m

(D) 60m

Which of the following types of projects,
as per the opinion of William H.

Kilpatrick, does help in knowledge
building of the students ?

(A) Artistic

(B) Constructive

(C) Group

(D) Problematic

Which type of graph is most suitable for
depicting the day-to-day variation in
temperature of a place ?

(A) Columnar

(A) @4

(B) <04 (B) Circular
() €38R (C) Linear
(D) ©8e (D) Pictorial

OTET/P-T

(51)

(Continued)



1‘3.

144.

145.

(a) QB6RE 2R Q'Q QIR WER g |

(b) G96Ra ZUAR Q'a §6Q Q16

TiENISR @A |

(c) QGees JAR 9’4 IETAER 60l |

(d) 9%6ed 2UAR QARER 99 FeQa
6o |

633Q ee aBegmiea Qacalg RrIQ
(A) (b) 8 (d) R 4" (a) B8 (c) §&

(B) (). (b) G (d) O] w<* (c) §Q

©) (@) ®) () 8(d)oR
(D) (). (b). (c) & (d) =

cead GoIfie - D AQIeeRe caIg?
(A) ageneadal

® a8
(C) umieQal

(D) 693628

6eR gRIa Q e IG0IQ @ 65 BE?

€geqla
gdqi
69RaIx

(A)
(B)
©

(D) ®1eQIQ

143.

144,

145.

SET -(D)

(@) Explain briefly what g
Environmental study.

(b) Discuss in detail what is
Environmental study.

() Writebriefly what is Environmental
study.

(d) Write a note about Environmental

study.

In the context of educational evaluation,
from the above.

(A) (b) & (d) are correct and (a) & (c)

are wrong.

(a), (b) & (d) are correct and (c) is
wrong.

(a), (®), (€) & (d) are correct.
(), (), () & (d) are wrong.

(B)

©
(D)

Which is Vitamin - D deficiency disease ?
(A) Osteomalacia

(B) Scurvy

(C) Nightblindness

Techofwarld.fh ™=

Which is the type of food having
maximum energy ?

(A) Carbohydrate
(8) Protein

(C) Fat

(D) Vitamin




146 & ——
- VIR9a FeqIg uBeqFe mug ceddce 146. Which among the following areas in India

Q019 n fe 9Far evigang? does receive the lowest annual rainfall ?
(A) *9A6e eage (A) TheC tal Coast

(B) eIg ade cgan (B) The] Hills

(©) eReage (C) The Kutchh Peninsula

(D) a3 areqem (D) The Ranchi Plateau

147. AIRQIQE AQIBVEQ 69X AWET GQIWE | 147. Which criterion of the standardised test

RRUT ISR ATS] QP @ea? refers to consistency of test scorers ?
(A) 6Juel © (A) Validity

(C) euaeel (C) Usability

(D) <gfgel (D) Objectivity

Techofworld.In
148. (a) €8Q 6 dqiEh QNI AQAIS | 148. (a) The ratio of the number of teachers
and the number of learners.
() dRIRIF @ da4a e ALY (b) Favourable Teaching and Learning
QIeIead| ' environment.
(c) @:Eh aece dga SASIK AIG! | (c) The degree of learning capacity of
the learners.
(d) d8Q AIRSa §9INR *E0Q ALl (d) The degree of teaching efficiency of
*  the teachers.

giafe 3a4Iea QFesa a8 AIRA a9 Which sequence of the above is most
B §96 FAQ R06AIS FRIQ 67 8T adi@ effective for the optimum success of the
aeae? teaching and learning process ?

(A) abcd (A) abed

(B) badc (B) badc

(C) cdba (C) cdba

(D) dcab (D) dcab

OTET/P-I (53) (Continued)



SET -(D)

149. 69WR aAIRS OIQ &1 7 149. Which is different from others ?
(A) eae (A) Apple
(B) <o (8) Banana
© <se (C) Cinnamon
D) zge (D) Grape
150. ;z?’a;c;g:?lm Ng@e 19 6a awiciag | 150. ghicpl;;?emm;e was sent to space on
(A) aidigg (A) Aryabhatta
(B) =Qa B Apple
(C) eesadel (© Jerelina
() ‘erRa gan (D) Bhaskar I
-000-

-000-
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